JMP instructions – analysis of a Latin Square
Uses the data in brome.csv as an example.  This has two blocking variables (freeway and stream) and one treatment, trt in a 4x4 Latin Square.
The analysis follows the same principles as the analysis of an RCBD: Include the blocking variables and the treatment in the Fit model box.  Then, evaluate the treatment effects as you would in any CRD or RCBD design.
For the data in brome.csv, you do need to flip the blocking variables to nominal.  Since they have numeric values, the default import leaves them as continuous (blue ramp) variables.  As blocking variables, they need to be nominal (red bar) variables.
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Here are the type III tests and trt least squares means:
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4Effect Tests

Sum of
Source Nparm DF  Squares FRatio Prob>F
freeway. 303 30157 04134 07497
stream 33 1089608 14.9370

t 33 22757726 3119762
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4 Least Squares Means Table

Level
harvest
insitu
uncut
windrow

Least

SqMean
62.525000
51.222500
30.232500
54.515000

StdError
077967408
077967408
077967408
077967408

62,5250
512225
30.2325
545150




